LETEME 17V I Y ARBREREFHNAE
A 20115E1A6H (KKEH)
BERERX

hig; | 0~4|5~9|10~14/15~19 201K | 304% | 404X | 504X | 604K | 704% |80k T| &
P X 1 6 2 2 3 14
REX 1 1 1 1 1 1 1 7
[£3]=3 2 3 3 2 10
iz =3 1 1 2 1 5
EREX 1 2 2 5
=K 1 1 2
T=80 1 1 1 3
RiEmAX 4 1 1 8
RIELR]| 1 1 1 1 1 1 9
ZTD1th 1 1 1 3

i 8 3 4 17 | 13 8 9 2 0 0 66

B& 20115E1A6H (KKEH)
BEERIX

Hhisk | 0~4|5~9[10~14/15~19| 201 | 301K | 404K | 501X | 604K | 704X |80 T| &
PX 0
REX 0
2713 0
i =3 0
ERE 0
T=X 0
T= 0
R 0
RIELER 0
TNt 0

& 0 0 0 0 0 0 0 0 0 0 0 0
LETEMSEREEE 42— m §{%L{y (082)247—4325
T730—8611 LEMHRFHE=TH8%HGS 0120—14—8734




